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EHAATY AR A3

1. ZAH7H R

O Il : HFA 8HT $HS 140-50 el -
e o1 i % R 8wy | Ojx HEwx
Al 2,805.63 2,378.39 427.24 1,960.04

x| 5 463.36 24512 218.24 24512
= 806.55 597.55 209 179.20
25 767.86 767.86 767.86
35 767.86 767.86 767.86
2. MAHIIA ST + BXBTY)
@ HEHIIY
eh HA=CHEHA : 2,240.95m’

= X|5H463.36) + 12(241.87) + 2X(767.86) + 3%(767.86)
= K|t 245.12m'+(218.24m' x245.12m" +245.12m°) = 463.36m’

—
= HEUEUHAE+HESEUN(SERE AI8Ste iP5 THAXxXMELER
AMEots HE+-SE2Z2 MEdtes A=0| UE2R didT AEdts SEAN)

Q mz|:o|. Aljl._.EZI,_SO_l'{ : 327,360'C‘)'|_'I
=~ 9184652743 (201613 HEA|7IEEY) + 280563(H2 AT

@ HSHEIIH . 733,597,392%!
= 2,24095m (A SINEBIR) x 327,360Q(mE A|7HEEH)

@ $XIBI}Y
@ FX|hE BT
= K|S} 265.58m°, 15 205.24m*, 2= 767.86m’°, 35 767.86m’
= X|S} 245.12 + (463.36 x 100/70) - 463.36] x 245.12 + 2,378.39 = 265.58m’



@ 2016.5.31. 7|&=m'T J|EHZA|X| 7} = 372,000

= X|3} HX(265.58) x ZA|X|7H372,000) x 1/3(EY EHAZ) = 32,931,9209
125 HME(205.24) x DAIX|7H372,000) x 1/2(ZY Z=HAH2) = 38,174,640
2% DE(767.86) x BA|X|7H372,000) x 1/3(EE XEAH L) = 95214,640%
3% DIE(767.86) x TA|X|7H372,000) x 1/4(EY ZHHZ) = 71,410,980

ASHEIIN+ @ BX[HIIA = 971,329,572

=

[
®
]

® mWarg sty

3. AIRE M=
@ MEEE 7|2 5%
@ ZHRE : 30%(HF7| 20| st 30% ZH)
3 YUZIAIE R : 33,996,5302 x E7p7pX|M| 3,399,650
= A EIIY x HEEE x AHQE = 971,329,572 x 5% x 70%
@ 2I7}7HKIM ZE HZIAFR E : 37,396,180 (CIZEAIR 2 x1.1)



